EENG 281 Homework #11 Solutions
Fall 2013

PO.11 [a] Y = 50/60° + 100/ — 30° — 111.8/— 3.43°
y — 111.8 cos(500¢ — 3.43°)
b] Y = 200/50° — 100/60° — 102.99/40.29°
y — 102.99 cos(377t + 40.20°)
[c] Y = 80/30° — 100/ — 225° + 50/ — 00° — 161.50/ — 20.06°

y = 161.59 cos( 100t — 20.967 )

[d] Y = 25007 + 250/120° + 250/ — 120" =0

y=10

P9.12 [a] V, =300/78; I, =6/33°
Vg N 300/78°
L 6,33
[b] i, lags v, by 45°:

25 f = 5000 f = 2500 Hz; T=1/f = 400 s

i, lags v, by ﬁ{dﬂﬂps] = b0 ps

E:

— 50/45° 0

PO27T Zp=1-—; 8+ (2+ 74)[|(10 — 720) + (40][520)

—1— B4 34 j4+8+ 516 =12 4 j120 = 16.97/45° O



PO28 V,=40/-15"V; I, =40/ — 68.13" mA

4= % = 1000/53.13" Q = 600 + 7800 Q2

g

i
Z = 600 + j (a.zw— M)
wt
39 — 0.4 x 10° — 800
[y

w? — 250w — 125,000 = 0
Solving,

w = h00rad/s
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P 9.20 - — 200
jwC (I x 105)(50 x 108) 7

jwl = 50 x 108(1.2 x 10°%) = j60Q)
V, = 40/0° V
-J200
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+
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Z, = —§20 + 30|60 = 24 — j8O)

40"@—3 R
I, = 575 = L5+ j05mA
o 0Ge0) I

v = 42.43 cos (50,0008 + 45%) V



